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1) BEBERY BH

EBREEEEL doz RHE E 21
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® A BWRSE REe FAUH0 st BR ES A Hikez BEMREY Ul =v

—— e LU S I R
ey - o ke RERe O Ben (R 20, REFE
S o o | T EmEA O R WEERE TTE
PR 5 ie | HEE, © HHOh AR REBY AR
¥ ¢ 9 24 | B @ ESes Bx g AT RUHY ®
” ot | oo | WEE S g3 99 veh e 2.
%25 WEBREC KM U3 REES = EERERHEC £ERRHG
5 T o
N — I L] P EREERERE RPE R
e it IO B BT RS AEANM HAE S AT
Ads Adg 24 4| 13 21.3 SAIREF 9. 6%
S N . s ERFIE : 5He] 10%
. ' e SLIRRY ¢ LLARKE RARSTH A
- S s 5 8.2
ARG BERBY 15%
A & 100.0 AR TR I (55 1 1, 320,
W) BRAES Bika EREEEE % + 850)

L SR AR R G 4 5mx S EE 200m)
1) LT $HH(1—0)

2 [ M :150m?

B @ #4 :100m?
M % &30/
HERER ¢ 10,0004

o x| mEAR | PP FgT 5 H % -

# =% 0.15A 2,520 378 150m2 <2, 000m?2 X 23|

% s 0. 50 1,320 660 150m?2 <+ 300m?

& B 1.25#7 ” 1,650 100m? --80m?

& & 3.307 880 2,904 100m?2 - 30m2

e fsl 1.007 1,320 1,320 100m? <-200m? X 23]

(N =3 12.00 7 880 10, 560 150m? = 100m? X 83]

Pkl #E| Q.75 1,320 990 150m? - 400m? % 23]

bi K 1.507» ” 1,980 100m? +200m? X 33]

m + 1.007 ” 1,320 100m? -+100m?

O 0. 66~ ” 871 100m2 - 300m? x 23)

& F B om 0.307 ” 396 30/ +100/

N 2t 22. 41 # 23, 029

Wz A 7 60kg 15 900 100m? X 600g

g o Al 0.17 1,500 150 100 m2 X 0. 5g X 28]

= e} 0.57» 200 100 100m? X 5g

R ES 67 122. 24 733 100m? x 30kg < 23]

) & 157 93.24 1,398 150m2 < 100g

b e 600 1 10 6,000 150m? % 4kg
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i e 157 100 1,500 150m?2 x 100g
g fE & | 150m? 60 9,000
® T R~ 307 1,500 45, 000
& =t 87,810

g &7 : 8,430

SRS 8,871

Rk : 952

N S VA
= 18,289

4 = 106,099

106, 099+10,000=10. 60%] (—4E4)

2) YT FEEEC—0)

Z W Fi:150m?
¥ @ M 100m?
% % B :10,0004
EFHEARR : 9, 000k

teox & | pman | H B H 5 iy % #

i )Tl 1.00A 1,320 1.320 . 100m2 +200m? X 23]

@ O A 0.66 7 ” 712 100m?2 +300m2x 23]

% ko3 12.00 7 - 88) 10, 560 150m?2 <1002 x 83|

Hekiy wm 0.757 1,320 990 150m? +-400m? % 23|

e X 1.507 ” 1, 989 150m? +2, 200m? X 33|

p=:} 4 L0~ ” 1,320 100m? +-100m?

N z 16. 417 16. 882

o] Al 0. 10kg 1,500 150

R e 6.037 122. 24 733

g & # | 150 00m 60 9,000 100m? x 30g x 23]

BWORK K 100,004 10. 60 106, 000

N 2+ 116,766

=3 B 133,648

fZLF) : 12,380
MR : 13,365
BABR - 982
A E 412,005

it 228,702
& % :162,350
162,350+9, 0004 =18. 04(Y)
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3) &P 7 BiE(2—1)
2 @ ¥ :1,000m?
B | 3 :660m?
oo% B :13,200%
HEREAR ¢ 11, 8804
e & | mEAR | H | e8] % m 1% s
E53 b 1.0A 2,520 2,520 1,000m? =+ 2, 000m? X 23]
#® H 3.37 1,320 4,356 1, 000m2 -+ 300m?
& R 8.37 ” 10,596 660m? =- 80m?
% i1 44,0 880 38,720 660m? = 15m?
73 = 60,07 ” 52, 800 1,000m?=-100m2 x 63|
b XK 6.6 1,320 8,712 660m2 < 200m? X 33]
ol B A 4. A ” 5,808 660m2 <- 300m? X 23]
Pkl ®BE 5.0 ” 6, 600 1000m2 -:-400m? X 23]
ki Ji'd 11.0» ” 14,520 220m? --20m?2
AN £t 143.6 7 144,992
) Bk 5.00kg 200 1.000 1,000m2 X 5g
o el Al 0.66 7 1,500 990 660m?2 X 0. 5g X 23]
-3 # 39.607 122.24 4,840 660m2 x 30g X 23]
i & | 100.00~ 93. 24 9.324 1,000m? X 100g
H i {2,000. 00~ 10 20, 000 1, 000m? X 2g
5 # | 500,00~ 15 7,500 1,000mz x 500g
N 2 48,654
WK | 13,2004 18 237, 600
g = ow 1,000 60 60, 000
N #+ 297, 600
& E 486,246
DEELFIG.6%) : 46,680
LEEFIE (10%) : 48,625
HAIER (1, 000m22% 6, 345) : 6,345
A R &EERES 16%) 17,294
=t 108,944
& F 595, 190
595,190 11, 8804 =50.
4) 285 1BE (2—2)
Z» [ #4:1,000m?
@ 4 660m?
B ¥ B 11,880k
HEWEARR ¢ 11,8804
e % & | mmag | BB & # % My # B
e BE 6.6 A [ 1,320 871 660m2 -+ 200m2 X 23]
B X 60.0 7 880 52, 800 1, 000m? --100m? X 63|
Bk 5.0 1,320 6,600 1, 000m? X 400m? X 23]
ool 4 6.6 7 ” 871 660m?2 +100m?
7+ =t 78.2 7 61,142
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73 = 39. 6kg 122. 24 4,841 660m?2 X 30g x 23]
g g ¥ 1, 000m2 60 60, 000 1, 000m?

B oA R 11, 880 50 594, 000

N =t 658, 841

& =t 719,983

SELF) 1 69,118

LEFIE 1 71,998

WAIRK 6,345

2 8 4 110,800

& =t :87,800

878,244 +11, 8804 =74
LPv5- BEE-3)

125, 983+879, 120 =1, 005, 103

1,005,103+ 11, 8807 =84. 60

5) &35 BHE(2—3—1)

% @ H&:1,000m?

K W #: 800m2
¥ & 800K
EEBEAR : 760(95%)

e % 4 | mEAR | M| £" ® t: % #

H &% 1.0A 2,520 2,520 1,000m?2 2, 000m? X 23]

#% H# 3.34 1,320 4,356 1, 000m? - 300m?

P B 10.07 ” 13,200 800m? < 80m?

% H n n 7” ” 800m? + 80m?

i il 8.0 ” 10,560 800m? -+ 100m?

i il n n ” ” 800m2 +-200m?2 x 23}

78 © 60. 07 830 52,800 1,000m2 +100m? X 63

Pekls | 5.0 1,320 6,600 1, 000m? +400m? X 23]

NOE O 2.0n ” 2,640 800m?2 -+ 4004

b7 Vi 15.0 ” 19,800 1,000m?2+-200m? x 33]

S =t 122.37 116, 436

A 7 164 300 4,800 8004 X 2m = 2m

# e 2, 000kg 10 20, 000 1,000m2 x 2kg

o & 100 7 93,24 9,324 8007 % 100g

7 # 481 122. 24 5,868 800 X 30g % 23]

5 & ® 1,000m? 60 60,000

BN z 99, 992

% A & 8004 84.60 l 67, 680

& 2 j 284,108

LESF] : 27,274
LEFIE ¢ 28,410
B ELIEEL : 6,345
AR 414,262

% 66,291
& = 350,399
350, 399+ 7604 =461
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2. AT EEER AEEF 2 smX EELK 5em)
1) A= (1)

2 [ %% :1,000m?

B B & :600m?
B % B b4l
EERER | 21,6004

frox & | mEAR | B #,# 5 iy 3% %

# F 1.OA 2,850 2,850 1,000m? +2, 000m?2 X 23]

¥ H 2.07 1,300 2,600 1, 000m?2 +-500m?

& i3 2.0 ” 15,600 600m? +-50m?

% = 20.07 » 26,000 600m? - 30m?

73 =3 140,07 800 120, 000 600m?2 < 50m2 X 73]

] 2] 40,07 ” 32,000 600m2 - 30m? x 23|

3B e 4.0n7 1,300 5,200 600m?2--300m?2 x 23]

B H OB A 6.07 ” 7,800 600m? - 300m? % 23

Pekig &= 4.0n ” 5,200 1, 000m:? +-500m? X 23]

& 7 6.0n ” 7,800 600m2 =-200m2 x 23]

| =} 3.0n ” 3,900 600m2 =-200m?2 X 23]

kil i 20,07 ” 26,000 600m?+-30m?

B oW OEOE 12.07 800 9, 600 48,000m2 <4, 000m?

BN = 270.07 264,550

H# il 2, 000kg 12 24.000 1000m? X Zkg

®| & 100 100 10, 000 1,000m? x 100g

74 # 36 7 125 4,500 600m? X 60g

g o] Al 1n 1,500 1, 500 600m2 % 0. 53

A 360~ 10 3,600 600m?2 % 600g

A 7] 134 300 3,900 600mz % 2. 2 100

g = 47,500

g & % 1, 000m? 70 70, 000

' T & [ 541 1,000 54,000

& =t 436,000

LESF ¢ 41,856
LEFIE 43,600
s ELIBKL ¢ 6,345
A P 416,540
2+ 98,341%)
& 3 534,341%
534, 341+ 21, 6004 =24. 70
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2) AT (EE—BIH)

Z T & :1,000m?
R B4 : 600m?
W 2% & 5,400
A EBER : 4,900%
fF% % | muap | B B | 2, 8 % it #* B
#t % 1L.OA 2, 850 2,850 1, 000m? -~ 200m2 X 23]
% H 2.0 1, 300 2,600 1, 000m2 = 500m2
& ® T7.57 ” 9,750 600m? <+ 80m?
% H 40.07 800 32,000 600m? +15m?
# X 6.0~ 1,300 | 7,800 600m? =-200m? X 23]
% =2 60.0 800 48. 000 1, 000m?2 = 100m? X 63]
= OE A 2.4n 1,300 3,120 600m?2 +200m? x 235}
B e 4.0n ” 5,200 600m2 -+ 300m? x 23]
ek s 4.07 ” ” 1,000m2 <+ 500m? X 23]
N 2 126.9 7 116,520
H# e 2,000kg 12 24,000 1, 000m? X 2kg
5 & 100 # 100 10, 000 1,000m? X 100g
74 S 6, 125 4,500 600m? x 60
g o] A 0,6 1,500 900 600m2z X 0. 5 2
N B 39, 400
WA K 5,400 24,70 133, 380
g5 f# 1, 009m? 70 70, 600
N =t 203,380 |
& =t 359, 300
RFESF ¢ 34,4929
LEFE « 35,9309
BOR B ¢ 6,3459
& R £:5,8004
= 82,157%)
4 =t 441,457
441,457 + 4, 9004 =90
3) AT (B E— B IE—EE)
2 T #:1,000m?
K | 3 600m?
HBO% B:4,900%
HEERTE 4, 900F
e % % | mEAR | B B[ # 8] % Hi 2% s
o) i) 4.0A 1,300 5,200 600m?2 - 300m? X 23]
B B WA 24.0n ” 3,120 600m? - 500m? X 23]
B =3 60.0 7 800 48,000 1,000m?2 < 100m2 X 63
Bkl wEkm 4.0n 1,300 5,200 1, 000m2 -+ 500m? X 23]
A =t 92.0% 61,520
R * 36kg 125 4,500 600m? X 60g
g o] A 0.6 1,500 900 600m?2 x 0. 5 X 23}
7N =+ 5, 400
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B A £ 4,9004 90 441,000
E & #H 1,000m2 70 70, 000
N &t 511, 000
& H) 577,920

£%4F) : 55,480
DEFIE 1 57,790
BEEIRK 6,345
2\ 2 4 18,669

s 128, 284
4 706,204
706,204 +4,900=144

8. Sulvhy AER AE WS 2. 5mx REL 5em)
1) S8iuT (5

Z W F4:1,000m?

B @ A : 600m?2
W o% B 18l
4 EWREE © 36,000k

fE % & | mmAR | B | & # 5 iy % e

## b 1LOA 2,850 2, 850 1, 000m?~-200m? x 23]

® H 2.0 1,300 2,600 1, 000m?2--500m?

i |73 7.57 ” 9,750 600m2 - 80m?

% & 15.07 ” 19,500 600m2+40m?

B A 60.0 800 48,000 1, 000m?=-100m? X 63

e e 4.0n7 1, 300 5,200 600m? <+ 300m?2 X 23}

2 om o 2.4n7 ” 3,120 600m?--500m?2 X 23]

Pkl ®m 4.0n ” 5,200 1, 000m2+-500m? X 23]

b x 6.0~ ” 7,800 600m? -+ 200m2 x 23)

7 &t 101. 97 104, 020

H Jia} 2, 000kg 12 24, 000 1, 000m?x 2kg

) % 100 » 100 10, 000 1, 060m?2x 100g

)id * 367 125 4,500 600m? x 60g

=8 E 2 0.6 3,000 1, 800 600m? x 105g x 23]

2 360 7 - 10 3, 600 600m?2 X 600g

A 7] 129 300 3,600 600m? X 2¢ -+-100m

T T £« 181 1,600 18,000

AN B 65,500

£ # H 1, 000m2 70 70, 000

7N z 70, 000

& z 239, 520

LR 23,952
LR SF) 1 22,994
A B 4 13,503
BEEER: 6,345

z 56, 884
& 2} :296,4044
296, 404 + 36, 0004 =8. 23
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2) FRFER)

2> T M :1,000m?
B E B :800m?
% % & 16,0004
e ¢ 9,600k
e % & | mEAR | PR | 2,8 5 By % #
7 B 13.0A 1,300 16,900 260m? - 20m?
B x* 40.07 2,500 100, 000 16, 0002 =+ 4004
BERAB D 20,0 # 1,300 26, 000 16, 0007 8004
A Az} 20.07 800 16, 000 16, 000 + 8004
e T 1.0n 2,850 2, 850 1,000m? + 2, 000m? X 23}
b H 2.0n 1,300 2,600 .|  1,000m2+500m?
& B 8.0x ” 10, 400 800m?2--100m?
B W 26.62 ” 34,580 800m = 30m?
b * 8.0uv ” 10, 400 800m2 +-200m? X 23}
® = 30.0# 800 24, 000 1, 000m?2 +200m? X 63
WHE R R 24,0 p 19, 200 800m?-+-200m? X 63
i i 5.31 1,300 6,890 800m? -+ 300m? x 23]
E:- ) 3.2n7 ” 4.160 800m? +-500m?2 X 23]
Bekly B 4.0n ” 5,200 1, 000m2 +500m? x 23]
ErT, X 26.67 ” 34,580 800m2 + 30m?
N B ® 19.07 800 15, 200 9, 6004 +~500m?
h g 328, 960
HE BeE ' 2, 000kg 12 24, 000 1,000mzx 2kg
o & 100 » 100 10, 000 1,000m? x 160g
R = 487 125 6,000 800m2 x 60g
IR - IPN 0.87 3,000 2,400 800m2x 0. 5 23)
AR R | 16g 400 6,400 16,0004 X 1g
= | 32g 500 800 16,000 % 0. 1g
%+ ~ 16,000 100 3,200 16, 0007 X 2g
B OE & 3 48, 000
W 4 = 2,500 8,250 16, 0004 X 13 /50, 000
7 g 109, 050
£ @ o® 16, 000 8.23 70, 000
wWOR 131, 680
& H3 639,690
SFLF : 61,910
LEFIE ¢ 63,969
B EIBH ¢ 6,345
AR 419,505
Es 141,819
& = 781,509

(=]
781,509--9, 6004 =81. 40
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3) v (EAR-1)

% T #H ¢ 1,000m?
R @ 3R : 800m?
7 M 4 B 1,600%
4 B A 81,5004
trox & | mEAR | TG & " s e % e
# B 1.OA 2,850 2,850 1, 600m2-- 200m?
%% 3 2.0 1,300 2,600 1, 000m2 - 500m?2
= ;3 8.0n ” 10,400 800m2 -+ 100m?
7 " 16.07 ” 20, 800 1,600 1004
7 i 8.0# ” 10, 400 800m2 +200m? X 23|
% = 30.07 800 24,000 1, 600m?2 = 200m2 X 63)
Bkl mm 4,07 1,300 5, 200 1, 000m2-+500m? X 23]
- 1 3.27 ” 4,160 800m?2+-500m2 x 23]
P=] .37 ” 6 800m?=-300m? X 23]
D) e 5.3 , 890 2300 23
N z 87, 300
HE T2} 2,000kg 12 2,400 1,000m? x 2kg
) & 100 # 100 10, 000 1,000m2 x 100g
R # 487 125 6, 000 800m? % 60g
o= A 0.8# 3,000 2, 400 800m2 x 0. 5% 23]
N z 20, 800
- 1,000 0 70, 000
Ok f 1, 60074 81, 46 130, 240
s 2t 200, 240
= &t 308, 240
PESFH : 29,600
D« 30,834
PEEIRY : 6,345
N 44,625
= 71, 404
& " zp 379,744
379,744 +1,500=253
4. 4 E 4£EE HEEHE 3. omX EER 5em)
1) 9 E HK
% T :1,000m?
B M ¥ 600mz
W % & :18,0004%
AERER + 12,0004
N &
£ % 4 HEAR @ o) - i e [:]
£ 1 1LOA 2,850 2,850 1,000m2 2, 0002 X 23]
% H 2.07 1,300 2,600 1, 000m? +500m?
& i 7.57 ” 9,750 600m2 +80m?
& Vi 36.07 ” 46,800 18, 0004 =-500
B =) 60.07 800 48, 000 1, 000m?2--100m? X 63)
b X 6.0 1,300 7,800 600m2 - 200m? X 23]
e 4] 4.07 ” 5,200 600m2 <-300m2 x 23]
LN i} 2.47 ” 3,120 600m2 +500m? x 23]
Pkl &m 4.0 ” 5,200 1, 000m2 - 500m?2 X 23]
S 2 131,300
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HE 3} 2,000kg 12 24,000
R # 367 125 4,000
) & 100 100 10, 0G0
# f& % | 18,000 1 18, 000
HzHa A 0.6 3,000 1, 800
h B 40, 300
5 & # 1, 000m? 70 70, 000
7 =t 70,000
& £t 241, 600
2L F)(9.6%) : 23,200
LEFIE (GRS 10%) : 24,160
B AR 6, 345
’“‘;f&(m%ﬂﬁ«l 15%) 3,624
=t 298 949
298 949 : 12, 00074 = 24. 90
2) +E () .
% T #%:1,000m?
KO & 600m?
B ¥ & :2,400%
£ E B:2,400k
e % & | mEAR | P B | # R 5 Bt = et
W OO R 400 1,300 5,200 120m? - 30m2
#t b 107 2,850 2,850 1,000m?2 =2, 000m?2 % 23]
% H 2.07 1,300 2,600 1, 000m?2 <-500m?
& wR T1.57 ” 9,750 600m2 - 80m?
=3 e 24.07 ” 31,200 2, 4007 + 1004
# piN 4.07 ” 5,200 600m? - 200m? X 23)
B # 60. 0/ 800 48, 000 1,000m?2 =100m? X 63|
Y} e 4.0n 1,300 5,200 600m? -+ 300m? X 23]
-3 i} 2.4n7 ” 3,120 600m? X 500m? x 23]
BEKklE @ 4.0n7 ” 5,200 1, 000m?2 -+ 500m2 X 235}
N =t 118, 300
HE e 2, 000kg 12 24,000
) & 100 # 100 10,000
R £ 36/ 125 4,000
¥z g A 0.6 3,000 1,800
N B 40, 300
S B AN 2, 4004 24.90 59,760
g # B 1, 000m? 70 70, 000
s = 129,760
N =+ 288, 360
DESLSF) : 27,683
RIS : 28,836
HEEIEY : 6,345
/N384 14,152
5 67,016
s} 355,376

355 376 2,200=161.50
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3) i (FHEA—BHE—REE)

2 M B :1,000mz
Kl #%:600m?
B % B:2,2004K
EEBRTE : 2,200%
H F [ &
5 % FEAR ) ) #7 Hi % T
B 40. 0 A 800 3,200 1, 000m? + 100m2 X 43]
b il 4.0n 1, 300 5,200 600m? -+ 30Cm? x 23]
3 om B A 2.47 ” 3,120 600m? -+ 500m? X 23]
Bk mm 4.0n ” 5,200 1,000m? + 500m2 x 23]
/4 = 45,520
4 & 60kg 100 6, 000 600X 10kg
HzH g & 0.67 3,000 1,800 600 0. 5% 23]
/J\ g‘ 7, 800
B oA f 2, 2004 161. 50 355, 300
g # % 1,000m? 70 70, 000
N = 425,000
& =t 478,320
£B4F) : 45,919
EFIE ¢ 47,832
B HEE : 6,340
AR 47,175
=t 107,271
& % 585,591

WA 585,591 +2,200=266
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